
Calling
Down
cases

“Q to p”

nopY
npoY

pYq
pqY

Yqr
qYr

opY
poY

when you are
following p “Q to lead” when

you
are leading

Easy: You follow q, who follows p Easy: You follow q, who is leading

“P to n” when you are
following p

O was 2 ahead;  now you follow o

“P to lead” when
you are
following p

O was 2 ahead;  now you follow o

+1 +1

0 0

Easy!

Yqr
Yrq

“R to you” 0

“You to o”
opYq
oYpq

O was 2 ahead;  now you follow o

“You to lead”

Next: lead!

pYq
Ypq

-1 -1

Who is o following?  Is o leading?

Now p is 2 ahead Now p is 2 ahead
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